Name:

Combining Like Terms

Directions: Simplify each expression by combining like terms
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8x + 10x

-Sm — 2m

16y — 12y + 6y

10x + 4 + 3x

P—6+7%p-4

2x + 83z -9y + 4z -y

0%)

08)

09)

10)

1)

12)

math
146 + 82 +50-60 +4¢ -2

146-66 = 80
89-29 =62 p (88629
56+40 =95

-4v + 6V — oV

=Xy + 4z -9xy

-17q + 5p + q -10r

-5+17j+6

8Xx + 3y — 9z + 4y — z + 14X

25ab + 10c — 19ab + 11¢c -8d




ANSWER KEY

01)

02)

03)

04)

05)

06)

8x + 10x = 18x%

-S5m — 2m =-?m

16y — 12y + 6y = 10y

10x + 4 + B3x = 18x + 4

P—6+7p-4=8p-10

2x + 83z -9y + 4z -y =
2x =10y + 3z

0%)

08)

09)

10)

1)

12)

-4v + 6v — Sv = -3v

-Ixy + 4z -9xy = -16xy + 4z

-17q + 5r + q -10r = -2%r

S+1Fj+6=173+1

8x +08y —9z+4y —z+14x =

22x +9y — 10z

25ab + 10c — 19ab + 11¢c -8d =
6ab +21¢c — &d
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